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Abody moves in a straight line. In order for the equations for uniformly accelerated motion to be
applied, which condition must be true?

A.  Aconstant net force acts on the body of fixed mass.
B.  Aconstant net force acts on the body.
C.  The body falls towards the surface of a planet.

D.  The body has an initial velocity of zero.
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The graph below shows the variation with time ¢ of the velocity v of a car travelling in a straight line.
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Which graph shows the variation with ¢ of the displacement s of the car?
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A girl is standing on a moving skateboard. She pushes backwards on the ground at intervals as
shown on the graph.
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How much kinetic energy is gained by the girl during the period represented on the graph?
Frictional forces are negligible.

A 200J
B. 400J
C. 600J

D. 1200J
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Which statement applies to an object in translational equilibrium?
A.  The object must be stationary.

B.  The object must be moving with constant acceleration.

C. The resultant force acting on the object must be zero.

D. There must be no external forces acting on the object.
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A student of mass m is in an elevator which is accelerating downwards at an acceleration a.
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What is the reading on the force meter?
A. mg
B. mg-ma

C. mg+ma

D. ma-mg
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A constant horizontal force F is applied to a block Y. Block Y is in contact with a separate block X.

The blocks remain in contact as they accelerate along a horizontal frictionless surface. Y has a
greater mass than X. Air resistance is negligible.

Which statement is correct?

A.  The force F is equal to the product of the mass of Y and the acceleration of .
B.  The force that Y exerts on X is less than F.

C. The force that Y exerts on X is less than the force that X exerts on Y.

D.  The force that Y exerts on X is equal to F.
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An electric motor is used to lift a heavy load. The Sankey diagram shows the energy

transformations involved in the process.

What is the efficiency of the motor?
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Two identical spheres, each of mass m and speed v, travel towards each other on a frictionless
surface in a vacuum.

The spheres undergo a head-on elastic collision.

Which statement correctly describes the spheres after the collision?
A.  The total momentum of the spheres is 2mv.

B.  Each sphere has zero momentum.

C.  The total kinetic energy of the spheres is mv2.

D.  Each sphere has zero kinetic energy.
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The horizontal component v, and the vertical component v, of velocity of an object are shown on
the graphs. Air resistance is negligible.
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These graphs could represent the motion of an object fired from a cliff
A.  vertically upwards.

B. at an angle above the horizontal.

C.  horizontally.

D. at an angle below the horizontal.
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A ball is thrown from point X and follows path XYZ. Air resistance is negligible.
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Which quantity is zero when the ball is at the highest point Y of the path?
A.  The horizontal component of the ball’'s acceleration

B.  The vertical component of the ball’s acceleration

C. The horizontal component of the ball’'s velocity

D. The kinetic energy of the ball
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Which statement applies to an object in translational equilibrium?
A.  The object must be stationary.

B.  The object must be moving with constant acceleration.

C. The resultant force acting on the object must be zero.

D.  There must be no external forces acting on the object.
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Atennis ball is released from rest and falls vertically through a small distance in air. What is the
change in the speed of the ball and the change in the acceleration of the ball as it falls?

Speed of the ball Acceleration of the ball
A increases decreases
B. decreases increases
C. increases increases
D. decreases decreases
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Two identical spheres, each of mass m and speed v, travel towards each other on a frictionless
surface in a vacuum.

The spheres undergo a head-on elastic collision.

Which statement correctly describes the spheres after the collision?
A.  The total momentum of the spheres is 2mv.

B.  Each sphere has zero momentum.

C.  The total kinetic energy of the spheres is mv2.

D.  Each sphere has zero kinetic energy.
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The graph shows the variation with time of the velocity of a truck of fixed mass.

velocity

What can be deduced from the graph?

A

B.

The truck is always accelerating.
The truck is always moving.
The truck is always moving in one direction.

The displacement of the truck after time tis zero.

time




